Added Value Unit

Part One

Time nllowed: 200 minules
Yo viwny wad dae i ondialstor or s gt o il feat,

Added Value Unit
Part Two

Time allowed: 40 minutes
Yo maty wse & caleulator for this part of the tes,

l_ 5% of twe pidee aol o C10 i gkl o0 0 company for the design and manufacture of its packaging.
How miich ba il compriy gaid for @ C1 priced 0 £107 '6- Solve. (a) Tx-—2=3x+30 B) Sx—-=35 e
[ ————

21. Tl Dt of B twlos wiss recoirded, 7. A aceaper, used i cabinet work, is in the shape of

T wvesnltn, Do vwloates, e shivn, a frapeziumt, Bem
TR JR- TR 1 TR [T P b= R . AD =20em, BC= 10cm and AS=CD
Fimel Hlye e Bntenenn For (lese i, Fine the area of the irapezism, d
Clive youir miwiwer, i minolen, coerest io 2 clecimal places. A o0 o o
i i ite: tiles, EEEEE
3. Shall Tun 42 pontige smmps. 8_ A pattern is made using black and white tiles,
& ol the stannpm nre Fiest Class, =E 5: = S gg=
How sy Plest Clany atnimipy does Sheila have? | |mjm] | EOOOE
EEEE EEEEE
- Patzern | Partern 1 Pantarn 3
4. A hurrel contadnn 13,7 Hires of water, E {a) Copy and complete the table for Partern 3 and Partern 4,

Petrn sibids 218 litres of wader to the barrel.
She then Mlls ber watering can with

i i
9,45 Ditren of wiler froam the barrel, AR
Hiow mnvich water Iy kel in the barrel? Gt
LTS

An electrician cut 3 lengths of cable, each | 7.6 metres fong, o _ ]
5 What in the tetal leagth of the five eables? 9, craig diiven 23 mall s s ek s Joiimey taloss 13 misunes.
What is Craig’s average speed in miles per howr?

i (n) Lz a4
| Numberof black tiles (5) | & | 12
() Write down a formula for calsulating the number of black tiles (8} when you know the

patten mumbsr (8,
(e} Use your formula to find the number of black tiles in Pattern 20,

I-ﬂ. A wire used to keep o vertical aerial steady i B.5m long.

Tt is artached o the aerial. 3 metres from the top of the acrial, asm/
. The wire is fixed 1o level graund, 4.8 m from e base of the seral. /
FORMULAE LIST: THRCRES DF DY TGOS Find the height of the actial. o
Circumlerence of o circle: €= md Clive your answer in metres, carmect to eng decimal place. /
IS 3 EX)
Areaof o vircle: A = et boatabi=e 1 s _ m
inen: ¥ = Al o ¢ dingram shows a river,
e : [ S A boat travels 38 m in crossing the mver from P o 0L
4 i 1 " Iis eourse makes an angle of 35 with the river bank,
GONOMETRY RATION IN A angl 5
Tl:::u'r-.\m:um THIANGLES GRAnmNE Find the width of the river, 8.
G metres, i :
tan£" = % varca o ag? 3 ive your answer i coerect to one decimal place
Hypalonuss " e 12, On squared papee. draw and label  the x axis from —4t0 10 and  the v axis from —6 1 7.
rppolune oppoitn gy = CEROAEE_ T * (a) Flotthe points: A(2, =51, B{~2 —1) and C(5.6).

(b} Plol podat [ 5o that ABCD is & rectanple.

e a0 o BJucenl Gradient = —teical height




